MaBnuoa 480 - KAAOUOTIKEG EELOWOELG KAL AVIOWOELG

1. No Moete T1¢ e€16MGELS:

x-1  x*-x X x-1 x+1 x*-1
3% -\ o) T3k Cra=* <=1)
e T _— =

xX—1 %X (x=1) < <%0, x=I

w Gy 2% T ZC’:_”—_/(K..\ ’*7‘3&1

-
BX - —l:x}—}\(l—klx_x’—_l,g,(_l
252 oy ot

Xt L4 " —(Gw =D

9w (x™41x—-3) =0

~

Xx=0 n Xx=\| n/x=-3
a_/\y»f a(\:—f 8 v

4. No MOGETE TIC OVIGMOOELS:

N X—2 L 2x 1 o X —X—2
i) >0 ii) <0 i) — <0
X +1 Xx—3 X +x-2
27+ | R+x-230 <7 120
N -1 X < -
) =— >o° X F-1 D =3 ERVIRAR L [P O Xzl xz2
>t
)
< -1 -— - e + 2%+ — Jf"’ + X:Y—l
=+ | — ¢+ [+ >y | = -9 <X
P(x? + /If - X PL + % __} ¥ Pex)
(]

X Elvo, - u (2 ¥




5. Na AMoeTe TIg avVIoOoELS:

2
i 2x+3>4 iy X2 Xx—2 - iii)x 3x 10+2$0
x—1 3x+5 x—1
) V)
ax — Sy —1 2x—-1 x+2
0{110-7"”‘5-&)

j‘(‘“"}“"’: AQV- u.de O-f\a.)ot(fu;l f'\O\[)OVoPuW./ G'vcu.n KON RV

e a— 1
21/)&&1& IS'-\GOJPD'\ fve xa rLPb,p\l,,o Tais Ek('L, 6NoZE o6 o
6L~ ds \.[rﬁ-_) VSN ul:,t.lvvv}go\

»<-\

b Wb -
><—\ =<- | ==\ < -\
X<F A
& (4 _3:)
2
X=2 &5‘
LB) <y X -2 g 3
clibt == it ik x L_q{sﬂs)su = ="ty
3x+4 540 =2x+5 Z2x+5
= "”S}" l% = s *% +mo
“llw -2 -J—‘IT"_—/— 5
3x+5 . ;L* 7"\6(“”»*‘?'10(’ 3¢)
go=) et s
I]U) x < 2 i, o
2x-5 <— e 27‘5 — * 0 =D
- x=-1
2x-540 | K-\ £0
,(-_}-—‘3 < K (x~1) - 2(3x-5) — SR s, -
w5 L-1) (zx-5) Cx=\)
F-rxtd
x= P+ 10— O ; = )iﬁ )O <o x \_w | %‘ 2 %  +©
2w-5$ o
x=3, %= 5 ) X =Ix40 | + \\ # *"f’\ ql‘f'
3x-35 Py +
73&(1;2‘_’;)0{%5] g | - b #H ¢ V¥ F
P + 73 4 L+
T4
<+ 2x-| I
3 e e
e >/ b d—-—} 3 e -
l/) Qx—; X+ 2 T - ’<+130 —> Xty - 3w 1) m

(2x-
2x-\$0 ) x¥240 e )

) Tyax—6C ;4
><4— -1 Sech =+ 3 g = = =Yx+4 3
() Coet 2)

7,0

(2x) (%4 2)



. M
1
xe (og-2)0 (2,11 V3 rap
, ; 2 1
6. No Moete v avicwon: x* + =
2x-1 x(2x-1)
ol &
X490 = E = _ A - ; =<’ (%) + 2% = | iy D
3] JTL— 2Z<—| w (2x=\) % (1)
(24) (K:‘“) o (x4 x> =x-1) -
T e = ’
< | -l o o
o ol | \ - T , ¥ xe—(—o:),-i] \J(O/%)'J 'iZ/*'m)
+—

> = | =50

_‘J
4
+
|

'-._\.-..._

v



